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B.Tech I Year ll Semester Supplementary Examinations July-2021
DIFFERENTIAL EQUATIONS AND VECTOR CALCULUS
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Solve (x +t)ff- y - e3'(x +I)2 .

Solve (n' -3D +2)y : xe3r + sin2x.

2 a Solv" (D' +4D+3)1, = n-'sinx+x.

b Solve ** rtarlx = y'secx.
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(Answer all Five Units 5 x 12 = 60 Marks)

OR

Solve (O' _ 2D)1, =e 
.' sin x by the method of variation of parameters.

Find the current 'i' in the LCR circuit assuming zero initial current and charge 'l', if
R:80 Ohnts,L:20Henrys, C:0.01 Farads and E:100V.

OR

Solvc (l + r)' lly .3tl + r)4 + 4v :-r'/ + "r + l.\ / ,lx' 'dx r -

Solve A *, : z +(,,, 4* z : v +a,Jx dx

r-l

Solve :+ + l8xy2 + sin(2x * !):0.
Ax'0y

Solvc by the method of separatior-r of variables a, : 2u , + a where u(x,O) = gs-3r

Form the partiai differential equation lf.,,rr,nuting the arbitrary functions fi'onr

xyz - I Q' +.),' + r') .

Solve (.2 - y)p+ (.r - z)q : y -'
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Q.l'. Codc: 19llS0tl31 E4
7 a l.'inclthe clircctional cierivalive ol'2r1, + z2 at (1.-1.3) in the direction of I'+ Zli +ZIr' .

b Irind utrl(f ) i1' i : grurl(x) +.r,t + z3 -3qz'7.

oll.

8 a For what values ol a, b, and c the rzector point lirnction ./' = (r + 2y + uz)f + 6M

(bx -3y - r).tj + (4x + c1, +2zji is irrotational.

b prove that v "(f " s)= j(v g)- s-(v t)*G .v)f -(f o)r-

9 o If F =1Zxr1l-(r).1* ),'[, evaluatc JV./r,/r, where v is the region boundecl by 5M

the SUrfaCeS I : 0, X :2,)) :0,! : 6,2 : x2,Z : 4.

b Verify Stoke's theorern for F:(r2 + y')l-Q*il.| taken around the rectangle 7M

bounded by the lilles x : !0, y = lb .

OR

l0 a Evaluare lF nA, where t :(tBz)l-02x)l+eDE and s is the parr of the 6M
J

surface of ,fr. plane 2x +3y + 6z :12 located in the fir'st octant.

b Using Green's theorem evaluate f ttr'- xy'ltlx+(y' _ 2xy)riyl where c is a square 6M

with vertices (0, 0), (2, O), (2, Z) )td Q,2).
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